
Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  9/23/2013 11:03 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2009988 2 573377 Univ. vacuum cleaner VC 60-U 230V  

RUS
23.09.2013 USD / 350333 / * / D 1/6

  
 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

1 392648 1 PC Head VC 60-U assy

2 392649 1 PC Compression spring

3 392650 1 PC Feeler

4 392651 1 PC Lid VC 60-U assy

5 392652 1 PC Magnet kit

6 392708 1 PC Cable tray

7 367979 6 PC Screw 4x20

8 392654 4 PC Screw 5x50 A2-70

9 392655 1 PC Grip assy

10 392656 1 PC Lid

11 392657 1 PC Slider

12 392658 1 PC Housing VC 60-U assy

13 392659 1 PC Sponge rubber 10

14 392660 2 PC Plug cap

15 392661 2 PC Seal

16 392662 2 PC Motor housing end cap assy

17 392663 2 PC Motor 230 V assy

18 392665 4 PC Carbon brush assy

19 392666 2 PC Seal

20 392667 2 PC Casing

21 392668 1 PC Spring clip

22 392669 1 PC Retaining washer

23 364012 5 PC Screw 4x16



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  9/23/2013 11:03 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2009988 2 573377 Univ. vacuum cleaner VC 60-U 230V  

RUS
23.09.2013 USD / 350333 / * / D 2/6

  
 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

24 2041122 4 PC Screw 5X100

25 203864 1 PC Filter element VC 60 PES nano

26 392672 2 PC Filter cartridge kit

27 392673 2 PC Filter cartridge

28 392674 4 PC Connecting cable

30 392675 1 PC Contain. VC 60-U assy

31 392676 1 PC Grip unit assy

32 392677 1 PC Connection assy

33 392678 2 PC Holder

34 392679 6 PC Screw 4x12

35 364387 1 PC Float VC 60-U assy

38 392681 2 PC Rubber foot

39 392682 2 PC Screw M10x35 8.8-A3E ISO4762

40 392683 1 PC Trolley

41 392684 2 PC Wheel 250

42 392687 2 PC Retaining washer

43 392688 2 PC Protective cap

44 392690 4 PC Cover cap

46 392691 1 PC Holder

47 392692 1 PC Holder

48 392693 1 PC Holder 36

49 2062961 1 PC Screw 5x80

50 363925 6 PC Screw 5x30



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  9/23/2013 11:03 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2009988 2 573377 Univ. vacuum cleaner VC 60-U 230V  

RUS
23.09.2013 USD / 350333 / * / D 3/6

  
 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

51 392696 2 PC Fastening set

52 392697 2 PC Seal

53 392698 2 PC Fastening set

54 392699 4 PC Nut M10 04-A2E ISO 10511

55 392700 10 PC Washer 10 200HV-A3E ISO 7090

56 392701 2 PC Wheel 75

58 392702 1 PC Nut

59 392703 1 PC Sealing ring 33,5x44

60 392704 1 PC Hose 32

61 392705 1 PC Connecting piece

62 392706 2 PC Screw M5x10

63 392707 1 PC Angle

65 392709 2 PC Washer 5

66 392710 2 PC Cap nut M5

67 392714 1 PC Cover

68 392715 1 PC Strain relief

69 392716 2 PC Screw 4x25 10.9-R2R

70 392717 1 PC Connection lead 230 V

72 392719 2 PC Screw 5*16

73 392720 1 PC Electronics

74 392721 1 PC Switch 12A

76 392711 1 PC Breech assy

77 363924 2 PC Adhesive label Kranhaken



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  9/23/2013 11:03 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2009988 2 573377 Univ. vacuum cleaner VC 60-U 230V  

RUS
23.09.2013 USD / 350333 / * / D 4/6

  
 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

78 2009984 2 PC Rating plate VC 60-U 230V

80 203866 1 PC Suction hose VC 60-U 36x5m assy

81 281893 1 PC Adapter

82 203873 1 PC Floor nozzle VC 20/40/60

83 203877 1 PC Rubber lip VC 20/40/60 set

84 203876 1 PC Brush VC 20/40/60 set

85 2044216 1 PC Suction tube VC 20/40

86 203872 1 PC Joint nozzle VC 20/40/60

87 203875 1 PC Bend VC 20/40/60 assy

600 430817 1 PC Label RFID
 



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  9/23/2013 11:03 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2009988 2 573377 Univ. vacuum cleaner VC 60-U 230V  

RUS
23.09.2013 USD / 350333 / * / D 5/6

  
 

 



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  9/23/2013 11:03 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2009988 2 573377 Univ. vacuum cleaner VC 60-U 230V  

RUS
23.09.2013 USD / 350333 / * / D 6/6

  
 

 


